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                Waraporn  Senakhun 2009: Recreational Value of Phu Chong Nayoi National Park, Changwat Ubon   
Ratchathani.  Master of Science (Resource Management), Major Field: Resource Management, 
Interdisciplinary Graduate Program.  Thesis Advisor: Associate Professor Vute  Wangwacharakul, 
Ph.D.  83 pages. 

 
 
                The main objective of this study is to evaluate the recreational value of Phu Chong Nayoi National 
Park, Changwat Ubon Ratchathani. Direct interviews by pre-constructed questionnaire are used to collect data 
from 318 on-site visitor samples in 2007. The individual travel cost method under travel cost approach is used 
to estimate the recreational value of the park. 
 
                The study found that most visitor samples live in Changwat Ubon Ratchathani. The shares of male 
and female visitors to total are about the same. The average age of the samples is 30 years old and mostly 
studying at undergraduate level. Most of the visitors are students with average income of 12,000 baht per 
month. Most of them traveled to this national park mostly by private cars and mainly in groups of not more 
than 5 persons each. They received information about this Park from friends or relatives. The average 
frequency of visits is 3 times/person/year. 
 
                The result of an analysis of factors affecting the individual travel indicates that only travel cost  
significantly affects the travel of the visitors. Other factors such as income or education level are not 
significant. The recreational value of the Phu Chong Nayoi National Park in 2007 is estimated as 83.03 millions 
bath. This value is very high compared to development budget of the Phu Chong Nayoi National Park of a few 
millions baht per year. 
 
                The results of the study reflect the importance of the Phu Chong Nayoi National Park as a 
recreational sitee to the local people. This suggests the justification of the Park for development supports from 
the government and related agencies. Among others are promotion of public relation and park management, 
especially to prevent encroachment. This would ensure the sustainability of natural recreational values of the 
Phu Chong Nayoi National Park. 
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����:��@��������
�
	
���� 
 2. ��	��
���
������D���������  
 3. �
����:��@��������P�D:��
������ 
 4. 
�
�����	�@:��@�����
 
 

������6� A����������������� 
  

H��	�@�LP
�
	
���� ����?I
 ����������
a 	�@�������D	[�H��7����X� :GO@����
G��=��
 ������
:	�
 7
��7
�
 ���
�
	
������
���?I
����������
a	�@X��������
:	�
 =��

��������:����� :GO@�����7
�7
�
X
:��
���?���O��������� 	�V

�V�������:����
�V
���
L�����
�
�����:
�����D��K
������
��
�
��
7�
��
�V
a (�8��  :���������, 2534; �����8F���7?�
, 
2538; 7�G�  ��>����

	9, 2540; G��DG
>9  ��C>���, 2542) 
 

 
�������������	��
L��X���
����:��@��������
�
	
���� xI@
7��P7��D7[���CL����

�V 
 
 ���
�
	
����:P^
��������
I@
��
�
�J�9  xI@ 
������K
��������V 
���7������

P�D����>�7��9 H��=��
[�7�
��X
������
a���7
�
GOV
	�@7[�����G��=��
���7���9:P^
:��79��}� ���

�
	
����L��G�K
�G�����������K
������
�
�J�9	�@:P��@�
�P�
LP���7��G���������D
7��G����:P^
���� (G��DG
>9  ��C>���, 2542;L�H�  ��@
:����, 2543)  
  
 ���
�
	
����������7[���CX
���
���{~�
{�7����G�����DX���
�
�J�9 H��:]G�D
7�
��	�@������:���C:���H�	�
���
���7������ ��D����:���C�����
��	�
���
:	�H
H�������

���:�W�����DP�D7�P`C��:��@�����7��G����[�:
�
���������:P^
������
�����X
7�
��
�V
a :��
 
P`C�������
��
�
��
P�D���� P`C��7�@
�������:P^
G�J ��O���
����	�@L��������:	�H
H���
	�@	�
7��� :P^
��
 7�@
���
a:����
�V���
:P^
7�:������
�����I
:�����	�
���
���X�X�����P�D���
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X
7�
��
�V
aL��	�V
7�V
 ]D
�V
�������
�
	
�����I
:P^
	�
:�O������
�
I@
��
P�D���
 ��O�
�����	�@���
���L�����:�����:P^
7��
�
I@
X
����[�:
�
�����P�D�[���
(G��DG
>9  ��C>���, 2542) ���
:P��@�
�P�
	�
7�
����K
����	[�X�����:���?I

�
	
����:P��@�
�P�
LP���� ����


�
	
����L���������7�
7����8DLP7������
	��
:	�@��P�D����>�7��9 ����
	��
:	�@���������� 
����

�
	
������
���
 :��
 Pd��
����J�9	�@ :���[����X�������:]G�D����� �W:P��H���7X��
P�D���
	�@�LPL��:���?I
 (L�H�  ��@
:����, 2543) 
  
 
��������:P��@�
�P�
7�
����K����	�@	[�X�����X��P�DH��
9����

�
	
����
:P��@�
�P�
���� ���G�K
�:>�Jb�����D7�
����
P�D:	> ������������
P�D���� ����
�
��
�
�����X
:�O�
 ����:���
:�����	�
������ 	[�X���
�J�9�7�
������

�
	
����	�@7
�
:
�������O@
��D������:P^
�������� :��
 ��	��
���
������D�
��	��
 (
�����  :�O�
G�
��, 2548) 
  
 ����
�������

�
	
�������
��
 7����?7��PL��������
�
	
����:����IV
��:
O@�
���
���X�������P�D�[���
��
�
�J�9���X��:�������:�
O@�������D�I
:����� �
�J�9���
���	�@�D����
�
��O�=��
���� H�����P�D�������������
a 	�@7����?	[�X������������:�
O@�������D�I

:�����
�V
  
               
>�GE���	�
G��5��������������� 
 
 ������
�
	
�����DL��X��7�@
	��	
P`���� 4 	�@�
�J�9���
���:GO@���������������

�
	
����:P^
7�@
�[�:P^
��D����8���������LP���������������������
P��������� ��D���?O����
:P^
P`����	�@ 5 	�@�
�J�9���
����WL�� H��:]G�DX
7�
��	�@��������������
P�D���� ��������
��

:GO@������������	�@��
��
����IV
 	[�X��:��������I
:�����	�V
���
�����D���X� H��7��P����
P�DH��
9��D��8������
�
	
��������
���LP
�V (7��:�J�9  :�Jb��7 ��D >������J89  P��
:�J�, 
2535) 
  
 1. P�DH��
9��D��8������
7����G���
��� (Physiological values) �������
�
	
����
	�@��P�DH��
9��D����8������7����G��D���
��� �������:����
�V�D����LP��D���
�D�������D
���
a��
���
�����D�����:
OV�X����7��G	�@���IV
 :��
 ���:��
Pd� PY
:�� ��P�� :��
:�O� ��@������
 
:��
7��
V[� ��D�������
V[� :P^
��
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2. P�DH��
9��D��8���	�
���X� (Psychological values) X
P`�����

�V	[�X���
:������X

���D��
������
��
 :��
��� 7��G��
7�
��:�O�
	�@������D:���H�����IV
:��������I
:�����	�

���
�����D���X�L��7��=�7�������������DX����������������� �W�D����X���
:��:����������7I�	�@
=��
������D������7�� 

 
3. P�DH��
9��D��8������
:>�Jb��� (Economic values) ����

�
	
����	�@���O@�:7��


�I
���
��	��
:	�@�����X��:�������������
aH��:]G�D���
��������� 7�
=���D	����:>�Jb���	�V

X
�D���	��
?�@
 ������� ��DP�D:	>:P^
����
��� P`�����
����

�
	
����H��:]G�D����

	��
:	�@��	�
�������� :��
 ���� :��D ��	��
���
����  z�z :P^
�
�9P�D���7[���C��

���7���������	��
:	�@��	�@����G�K
�:>�Jb�����
7�
���
�		�@����
��D�������
L�����
����:���C  
 

4. P�DH��
9��D��8������
7�
�� (Sociological values) X��:������
	�@������X
���
P�D����������
�
	
��������
:�W�	�@ ����

�
	
����	�@���O@�:7��
�I
���
��	��
:	�@�����X��:���
����������
a���
���������H��:]G�D����
��@
7[����������:����
��D������
�D���
L���������
L��P�DG���P�������
X
	�
	�@=����O�:P^
������7�
�� ���P�D����������
�
	
����������

:P^
���:P��H���7X���
:��7���
����7��G�
�9��DP������:G�@�	�@�D�����������=���O@
L������
��
����7�� 
 

5. P�DH��
9��D��8������
��K
���� (Cultural values) 
�
	
����:P^
�������	�@	[�
X��=��:������������:���
�����D��P�D7����89:��@���������
�������� P�D����>�7��9 ��K
����
�����
7�@
	�@:P^
������
����  
 
 6. P�DH��
9��D��8������
���>I�J� (Educational values) ����

�
	
��������
P�D:�	H��:]G�D	�@:P^
����������D	�@������7[���C	�
P�D����>�7��9 :P^
����
	�@X���
	�������
	���D���:���LP>I�J��������:��@�����7�@
���
a 	�@G�:�W
L���������:�
 xI@
	[�X��:��������������X�X

7�@
	�@L��G�:�W
 
�����
�V��
:P^
7?�
	�@	�@X��X
���>I�J������	�@7[���Ca 
  

H��7��P�O� ���
�
	
��������8P�DH��
9�������� 	�V
X
���
�����	�@X��P�DH��
9
����

�
	
���� ��D����
	��
?�@
	�@:P^
	�@��V
��
����

�
	
���� �����
���G�K
�P�D:	> 
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>L����� A4��B
������6����������������������� 
 
 Chubb and Chubb (1981) L���[��
�P`����	�@7�
=�������:��������������
�
	
����
���:P^
 2 ����� 7����?7��PL����

�V 
 
 1. P`�������X
�������� ����?I
 P`����7��
�����	�@�����G������� ������O� �������7I�
	�@�7�
�������
����� 	�@��=������7�@
�������	�
�����G��D���X���
�
:�� 	[�X��:���
��
��
X���D����GI
G�X�	�@������
��
 H��P`�������X
�������� L����� ��������G �����������D
	�>
��� 	��JD��D������� :G> ���������
������D��� :Pc�������D��?������ ���	�V
:���	�@:���D7�
7[������������
�
	
���� :P^
��
 
 
 2. P`�������
���������� ����?I
 P`����	�@:��@�����
������J8D	�
:>�Jb���7�
����D
P�D���� (Socioeconomic-Demography) 	�@��=�������	[��������
�
	
����H��P`�������
��
���������[��
����:P^
���J8D 3 P�D��� L����� 
 
                2.1 ���J8DGOV
b�
	�
P�D���� P�D������� ���>I�J� 	�@G����>�� ���:�J��8���� 
:P^
��
 
 
 2.2 ���J8D	�
���
:>�Jb��� P�D������� ����G ��P���������

�
 ���L�� ��J� 
��
���� HP�����
�
	
���� :P^
��
 
 
 2.3 ���J8D	�
7�
�� P�D������� H��
7���
	�
7�
�� �����	�
7�
�� ��	��G���

>�7
���D���:�O�
 P�D:G8� ��K
���� :P^
��
  
 
 7��
 Hudman (1980 ���
X
 

���J89  ����:�W
��, 2546) L�������?I
P`����	�@:P^
7�:���	�@
��D���
X��:�����
��
X
��
�����X
���:��
	�
	��
:	�@��L�� 2 ��P��� ��

�V 
 
 1. P`����=�����
 (Push factor) :P^
7��G:
O@�
L�	�@����D���
X��:�����
=�����
���X
���
�����X�����7�
X�:��
	�
	��
:	�@�� L����� ����:���
:�����������	[�
�
 ��������� �����������
����:�W
X
7?�
	�@�P��X��� ����>��	�����>�7
� ���D���=���������
��	�@���
�
 ���:��@��
:���
C���G�@
��
��O�:GO@�
��
 ���	�V
:���=�X
���
:������������D�������O@�:7��
��
�
 :P^
��
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 2. P`�����I
��� (Pull factor) :P^
7��G:
O@�
L�	�@�I
��� :���X�X�������L�����:��
	�

	��
:	�@�� L����� 	�>
����G 7��G����	�>
9 ��8�����
����
	��
:	�@�� �����7���9Pd� 7��G��������> 
����7D���7��� ���G�K
������
��� 7�@
��
:	�
:��
���9���
a :P^
��
 
 
 ���	�@��������
��
 G���� ���	�@��������7�
X�:��������������
�
	
������O����7�
X�
:��
	�
	��
:	�@�� ��7�:���GOV
b�
������������
�����D�������7I����X
��
����D�����
P�D������P`����:>�Jb���7�
�� ���J8D��P������:��
	�
	�@:P^
P`����=�����
��D���
X��
���7�
X�:��
	�
:�������������� ���	�V
��	��G���
P`����	�@�I
���:���X�X��:���������7�
X�
	��
:	�@����D:��������������
�
	
���� 
 

���������������
G��������� 
 
�������������������������  
 

 ��	��
���
���� (National Park) ����?I
 	�@��
 xI@
�������?I
GOV
	�@��
	�@�LP ��:�� ���� 
�
�
 ���
 �I
 ��
 �[�
V[� 	D:�7�� :��D ��D	�@���	D:� 	�@L���������[��
�X��:P^
��	��

���
���� ���J8D	�@��
��
�����:P^
	�@	�@��7��G��������:P^
	�@
��7
X� ��D��L������X
����7�	���
��O��������
H�����������������
�����X� xI@
��X��	��
���:�O�
 	�V

�V����[��
�
��
������W:GO@�X���
����X
7��G��������:���:GO@�7
�
L��:P^
����
���>I�J� ��D�����O@
���9
��
P�D���
7O�LP (���
7�
  ��C����, 2536: 55) 
 
 ��	��
���
������
P�D:	>L	� ?O�:P^
����
	��
:	�@��	�@��������������7[�����

��	��
:	�@�� ���	�V
��
:P^
����
	�@������>����
GO���D7���9	�@����8���X
:��
��	��>�7��9 :>�Jb��� 
��D:��

�:�>��	�� ��	��
���
������
P�D:	>L	�7��
X�C� ?O�:P^
����
	�@������7[���C	�V
	�

����7��
��	�
	�
����������DP�D����>�7��9 ����7��
����
����P�D:	>��O�����>�7��9
��
��	��
���
����
�V:P^
	�@P�D���J9���	�V
=����:�O�
���X
��D���
P�D:	> xI@
7�@
	�@P�������
7������

��	��
:	�@��	�V
����
�V:P^
�[�������X
���:�
L������
����@
 ���G����8���	��

���
����X
�
���
���:P^
GOV
	�@�
����J9���� ?O�������	��		�@7[���C��@
X
������J�:7?�����G:��


�:�>��	����D����
����J9������������	�
���
�����	�� GOV
	�@�
����J9:����
�V��
:P^
7?�
	�@	�@
G�:>J7[��������G��=��
����
X���D:P^
����
�������	�
���>I�J�������� (�����	��
���
���� 
7���9Pd� ��DG�
��9GO�, 2547) 
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 7[��������?�P�D7
�9��
��������V
��	��
���
����
�V
 The World Conservation Union 
��O� IUCN �[��
�L�������������V
��	��
���
���� �����?�P�D7
�9:GO@��������
���J�����

����������D	�>
����G 	�@������7[���C�D������� ��O��D���
�
�����7[�����X��P�DH��
9���

��	��>�7��9 ���>I�J� ��D
�
	
������
�
�J�9 ��D:GO@��
L��xI@
����:P^
����	
�D��
�:�>
��
������� 7�
�� 7�@
������� ��D	��G����G�
������ �����
�
��G�
��9	�@X����D7�CG�
��9 	�V

�V
:GO@�������@
�
��D������������	�

�:�>��	�� (����
�  :��G�
�9, 2547) 7��
���?�P�D7
�9
��
��������V
��	��
���
������
P�D:	>L	�
�V
���	�@�����	��
���
���� 7���9Pd� ��DG�
��9GO�
�D��L���� 3 P�D��� �O� (
�����  :�O�
G�
��, 2548) 
 
 1. :GO@��������
���J���D�
����J97��G�������� �����
?�@
�[�:
����
	��G����
	�V
����	�@������X
��	��
���
����
�V
X���
��������LP 
 
 2. :GO@����>I�J���
���������	�
��	��>�7��9 
 
  3. :GO@����G��=��
����
X���
P�D���
:P
̂7��
��� 
  
������
G����4K���?����������������� 
 
 ��	��
���
�������	��	��D����7[���C 7����?7��PL����

�V  
(7��:�J�9  :�Jb��7, 2535) 
 
 1. 7���
����7�������
��	���	��Pd�L����DGO�������
����������� 
   
 2. �������J�	��G������
X
GOV
	�@��	��
���
������DGOV
	�@X���:���
 
 
 3. �������J�7��G��������>	��
?�@
 xI@
������7[���C	[�X���
��X
���
������
:P^
=���
������	[�:�J�������@
�IV
 
 
 4. �����
����J9	��G������������ �����
GO�G�
��9 xI@
�[�
��P�DH��
9����
�J�9 :��
 
����� �����J�H�� :��O@�

��
��� ��D������
:��O@�
X�����
a 
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 6. :P^
����
�
����J9������������	�
�����G ���	�V
:P^
����
	�@������>�����
����������
GO���D7���9�
�����
a 
 
 7. :P^
����
7
��7
�
���	��
:	�@����D
�
	
���� 
 
 9. :P^
����
������

�
	[�X��:���
�
X
	��
?�@

�V
a :��
 ������

�
:��@�����
�

���������
a ���G�K
����
���	��
:	�@�� ������
���:P^
L��9=��
[�	�
 :P^
��
 
 
 10. :P^
����
��
�����������DX������������=����:�O�
 
��	��
:	�@�� 
�7��
��>I�J� ��D�

X
	��
?�@
 
 
 11. �������J���8��G7�@
�������X�����P�D���
	�@��>��X��������	��
���
���� :��
 
7���
����7��
�� ��D�O@
���9 ��D�������x����G�J 
 
����������������������� 
 

����	��	��D����7[���C��
��	��
���
����	�@�������� �����������	��
���
����
�I
���������	�@�I�P���C���
����
����J9L��xI@
����������D	��G������������ 	�@ :P^

�
�9P�D���������
GOV
	�@X����������
L��:7O@������ �����������	��
���
���� �I
�����������
��������	�@:��@�����
��
����
�I�xIV
 ��

�V (����
�  :��G�
�9 ��D 7��:�J�9  :�Jb��7, 2539) 
 
 1. ����������J�	��G������������ �����������	��
���
�����D���
��������?I
���
Pc�
��
��D���J�	��G��������������D7�@
������� �����
������L�P`C��	�@���:����IV
 :��
 
���G�
	�����
��
���L���:�� ����������=��?�
Pd� ������������7���9Pd� ���x����x�
	��G����	�@:7O@��H	�� �����
P`C��=���D	�	�@:������=��X��P�DH��
9 ��D���G�������
	[����X
��P������
a :P^
��
 
 
 2. �������������

�
	
���� �����������	��
���
�����D���
��������LP?I
���
������:��@�����
�
	
������DHP������7O@�����������������X
GOV
	�@ �D��?I
����
	��
:	�@�� 
�������X
����[���
���J�GOV
	�@L��X��:7O@��H	�� ������L��X�����	��
:	�@��7�
=���D	����
�:�>Pd�
L�� ��D7���9Pd� �����
	��G�������������O@
a	�@:��@�����
 X
�8D:������
:P^
X�����������
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��	��
:	�@��:GO@�X��L����������������:���X���D����:G���:G��
 ���	�V
:P^
���7���
���7[�
I����

����
����J9������� 
 
 3. ����[���
���J���D{~�
{�	��G���� :�O@������G�K
���	��
���
����:P^
����


�
	
���� ��D:P��H���7X��P�D���
:�����X��P�DH��
9����D	[�X��	��G�������
a	�V
:P^

����������D	�@7���
�IV
�[����	���H	���
 �����������	��
���
�����D���
�[��
��
�	�
X

����[���
���J� ��O�{~�
{�X������7��7��G:������� 
 
 4. ����
����J9��	��
���
������D���G�K
�:>�Jb����7�
������
	��
?�@
 :
O@�
���
��	��
���
����L��L����V
����H��:��@�� ������������������
���
a	�V
	�@����H�������	��
���
����
��D���X
:����	��
���
����:�
 �����
�
���
�
X
GOV
	�@	�@��=�H����
�������[�:
�

�
���

�����������D�
����J9	��G������������X
��	��
���
���� ��

�V
�I
�[�:P^
����
��@
	�@�D���
��
�
�	�
P�D7�
P�DH��
9��D���������O��D����
�
���
�
��
����� ��DP�D���
	��
?�@
X��
7����?���
P`
P�DH��
9������
 ��D���J�	��G��������������D7�@
�������X
GOV
	�@����
��
P�D7�	����G 
 
 5. �[��
�����7[���C���
���
 :
O@�
��������������	��
���
������������
���?�P�D7
�9	�@�������� ��DX
��
���V
�[�:P^
���
����[��������7[���C��
��������� ��O�X

��
��8�:Pc�����	�@�[��
�L�����L��7������
��O������
 :��
 ����P^
����
	��
:	�@��������
7
�
GOV
	�@:]G�D �����������	��
���
����	�@���D���
�[��
��[��������7[���C��
GOV
	�@����X

:�� ��D������������X��L�����:Pc�������
����� 

 
������6� A��������>�G6�����
��� 

 
��
���E��������69�8O9�4��	���4�A����
��� 

 
	��G��������������D7�@
�������:P^
7�@
	�@����D��
:�W
��O����L�� :G��DL�������xOV�

�����
X
���� 	[�X���
7��
X�C� :���X����L������8���	�
:>�Jb���  ����������
����
	��G��������������D7�@
��������������� ��
��G	�@ 1 ��������
	��G��������������D
7�@
�������	�
:>�Jb>�7��97����?���
���L����

�V (7�G�  ��>����

	9, 2540) 
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1. ������	�@:���������X��P�DH��
9 (Use value) ����?I
 ���	�@	��G��������������D
7�@
�������X��P�DH��
9	�@:P^
��P�������P�D���
 xI@
7����?���
L��:P^
 3 P�D:�	 L����� 
  

       1.1 ������������X��P�DH��
9H����
 (Direct use value) �O� ���	�@P�D���
L����� 
P�DH��
9H����
���7�
�����D������ 	�@:������	��G������
����������D7�@
������� :��
 ���
���P�����	D:�:P^
����� ���������
����
	D:� 
           
 1.2 ������������X��P�DH��
9H������ (Indirect use value) ���	�@7�@
�������	[�
�
��	�@:P^
P`�������=�������
�
I@
��DX��P�DH��
9���P�D���
H��=��
��D��
���=��� :��
 
��8��G
V[�X
���
V[�	�@7D�����������
	�
���=���
V[�P�DP� 	[�X�����
V[�P�DP����
 
   
 1.3 ������������:�O��	�@7
�
L��X��X
�
��� (Option value) :P^
������	�@�����X

7�
��X�����	��G��������������D7�@
������� H��	�@P`�����
��
L��L��X��������	�@:��� ��D
	�� G� ����������� ��D7�@ 
 � ���� ��
�V 
 :� �  ��� �W X�� �� ��7[ ���C�� �� �� :�W� �� �J �
	��G��������������D7�@
�������
�V
L��  :GO@�:P��H���7X��7����?X��P�DH��
9���
	��G��������������D7�@
�������X
�
���	�V
	�
��
��D	�
���� :��
 ����
����J9����
	�@����
��>����
7���9Pd� ������������	�
�����G 
 
 2. ������	�@L��L��:������X��P�DH��
9 (Non-use value) ����?I
 ��8���	�@�����X�����
	��G��������������D7�@
������� �����������
�V
�DL��L��X����DL��L������DX��P�DH��
9���
	��G��������������D7�@
�������
�V
 ��8���
�V
���:�������������7I�=��G�
�9	�
7�
�� ����

��
������
��
�����
�V
 ���L��L��:������:GO@�P�DH��
9��
�
:�
 7����?���
L��:P^
 2 
P�D:�	 �O 
 
 2.1 ��������
����[��
���� (Existence value) ����?I
 ������	�@7
�
�������
�����

�����	�@P���?
�X��	��G��������������D7�@
�������
�V
�
���� �������DL����7��
����X
���X��
	��G��������������D7�@
�������
�V
:���W��� :��
 ����
����J9G�
��9GO� G�
��97���9����� :P^
��
 
   
 2.2 ������:GO@�������
X
�
��� (Bequest value) :P^
������	�@�����X
���
P`�����

���
����
����J9	��G��������������D7�@
�������L��X��������
L��X��P�DH��
9 :��
 ��������

����
� �� �J97� ��9 X���7�CG�
��9  � ���
� �� �J9���� 
P�D�� �� > �7��9  :P^
��
  :G��D���
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	��G��������������D7�@
���������
�����?��	[���� �DL��7����?	[�X�������O
7��GL�� ��D
��������
���
�DL��L��X��P�DH��
9 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
  

 
���� A 1  ������H�����	�
:>�Jb>�7��9 
	�@��:  ����P�
��� 7�G�  ��>����

	9(2540) 
  

 7[ �����X
���>I�J����V 

�V :P^
���������� �������X��P�DH��
9	�
��
���
	��G��������������D7�@
������� xI@
�W�O� ������	�@:���������	�@P�D���
:�����X����	��

���
��������

������
�������������
� :GO@����
�
	
������O�G��=��
����
X�  
 
���>�G6�����
�����������������������
G4�A����
���  
  
 ���P�D:��
��������
	��G��������������D7�@
������� 7����?7��PH�����
���:P^
 
2 �������������a L����� (:GWCG�  :�
������, �.P.P.) 
 

1. �������X��:P��:=�����GI
G�X� (Stated Preference Approach) �������
�V?O�:P^
���
P�D:��
H����
:G��D:P^
���7��?����O�7����J89��
=�����H��H����
 7[�����=�����H��xI@

�7�
�����?P�DH��
97�
7�����X������[������
���L�� ��O����
������������X������X��:����IV


������H�����	�
:>�Jb>�7��9 

������	�@:���������X�� 
P�DH��
9 

������	�@:���������L��X�� 
P�DH��
9 

������������ 
X��P�DH��
9 
H����
 

������������ 
X��P�DH��
9 
H������ 

��������
 
���7
�
L�� 
X��X
�
��� 

������:GO@� 
������
X
 

�
��� 

��������
 
����[��
���� 
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���	�@7�� ���X���D������?P�DH��
9	�@���
��� �������
�V7����?P�D:��
L��	�V
������������X�� 
��D������������L��L��X�� :P^
���P�D:��
H����>�����7���
7?�
���897�������
7�@
������� 
:GO@���:���D�9����:�W�X�������O�����:�W�X���������:����
�����	�@���7
�
���7?�
���89 
xI@
�������
�V���
���:P^
 2 ���� 
 
 1.1 �������P�D:��
�������7���
����7���� ��O� Contingent Valuation Method  
 
 1.2 �������P�D:��
��������[���
	�
:�O�� ��O� Attribute-Based Method  
 
 2. ����7�
:���������GI
G�X� (Revealed Preference Approach) �������
�V?O�:P^
���
P�D:��
H������ ��>�����7�
:��G���������
�����	�@7D	��
����GI
G�X�	�@:����IV
 ������
:P��@�
�P�
7�@
������� H��G����8�=��
������H�� ��O����X��P�DH��
97�
��� ��D������	�@��
����X
���� xI@
7�
���:���
:����
�V������:��@�����
���7�@
�������L��	�
X��W	�
�
I@
 H������
:��@�����
�������X
��P���X��P�D�����
 ��O����X��	��	
��
 �������
�V���
L��:P^
 2 �����������
 
 
 2.1 �������P�D:��
�������������H����
(Conventional market) ��>������7��G�
�9
	�@��� :�O@�7�
�����O����������7�@
������� xI@
X��P�DH��
9H��7�
����O�����
 7����?xOV����L��
X
����:G��D������P���� ���:P��@�
�P�
7?�
��G��
7�@
������� 	[�X��=�=���	�@7����?
xOV����L��X
������
��������
:P��@�
�P�
LP �W7����?	�@�DX��������������
=�=���
�V
a
P�D:��
L��H����
 :G��D:�O@�7�@
�������:P��@�
LP P����8��O���8��G��
7�
���	�@:��@�����
�W
:P��@�
���� :	�
�����P�D:��
���X
�����
�V L����� Change In Productivity Metod, Cost Of Illness 
Method, Averting/Avoidance Cost Method :P^
��
 
 
 2.2 �������P�D:��
�����������	
 (Surogate market) X
��8�
�V���:P��@�
�P�

��
7�@
������� ��=������P7
�9��O���P	�
��
7�
���	�@������X
���� ��O���=��������������G
��
7�
���
�V
a :G��D:�O@�7�@
�������:P��@�
LP ��P7
�9/��P	�
��
7�
���	�@:��@�����
�W:P��@�
����
:	�
�����P�D:��
���X
�����
�V L����� Travel Cost Method, Property Value Method, Household 
Production Function :P^
��
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 X
���>I�J����V

�V :P^
�����������	�
���

�
	
���� ��

�V
�I
X��������:���D�9���X������
���:��
	�
 X
���P�D:��
�������DX������:���D�9���X���������:��
	�
X
�D��������X
���
P�D:��
 :
O@�
���:P^
����	�@:���D7�������P�D:��
������	�
���

�
	
������
��	��
���
����
����

���� 
 
���>�G6�����
�����
�����������E��=����� ��6���G�	���=������=����6������  
  
 ���P�D:��
������	��G��������������D7�@
������� ����������:���D�9������X������X

���:��
	�
 (Travel Cost Method) :P^
����	�@X��������������X��P�DH��
9H����
 ��D�����
[���X��
X
���P�D:��
������:��

�
	
������
7?�
	�@	��
:	�@�� X
���P�D:��
������P�DH��
9	�
���


�
	
�������
��>��:	�
�����P�D:��
������ H�������7����	�@7[���C��
�������P�D:��
������
H��������:���D�9X������X
���:��
	�
�O� 
��	��
:	�@��:P^
=����:���=�������:P����:	����D����

���X������X
���:��
	�
��	��
:	�@����
����

�
	
���� ���=�P�DH��
9	�@�������DL�����������
	��
:	�@�� ����������DL���������GI
G�X�����������X������X
���:��
	�
����
����

�
	
����
�W�D���7�
X�:��
	�
��	��
:	�@�� (��
��  ����97
�
, 2540) 
 
 ���P�D:��
����������

�
	
����H��������:���D�9���X������X
���:��
	�
 �O� �������
P�D:��
����������

�
	
���� H�����P�D��8���GOV
	�@X��:7�
��P7
�9 ��O���������P�DH��
9	�@
L�����7��
:��
=�����H�� (��G	�@ 2) 
  
 ��P7
�97[���������

�
	
���� ����?I
 ����7��G�
�9�D����
P����8���
���(�[�
�

��
,�[�
�
���V
) 	�@=��X��������:���LP	��
:	�@����D
�
	
����������� H��X���[�
�
:
�
 ���X������
X
���:��
	�
���	�@G����>����
=����
�
	
����?I
����

�
	
��������D���V
 :P^
�
����������
��D����

�
	
����
�V
:P^
	�@���
�����
�
X
7�
��:G��
L� 7����?���L����� �[�
�
���V
��

�����
�
	
����X
GOV
	�@
�
	
����
�V
a X
�D�D:���X�:����
I@
 :��
 1 PY ���X������X
���
:��
	�
����D���V
:P^
�
���X
���������� H���[��
�X��P`�����O@
a�
	�@ :��
 �D������L��
���>I�J� �7
��� :P^
��
 ���:
O@�
������	��
:	�@�� ��D���
�
	
���������J8DG�:>J������

���7�
����
���O@
a :
O@�
������	�@�DL�����7�
��� ��D������	�
���

�
	
���� =�����H�����

:��
	�
LPX�������������
:�
 ��=�X��=�����H�����
:7�����X������X
���:��
	�
X
�D���������

��
LP����D�D	�
	�@�D���
:��
	�
 ��D:P^
������	�@=��	�@��	�@G������X������GOV
	�@����

�
	
����
���
�H
��	�@�D:��
	�
LPX���������������=��	�@����L��:G��D���:7��:��� ��D���X������X
���
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:��
	�
�[@����� �������7��G�
�9X
���J8D��
����� ���������
��
:7�
��P7
�9 7[���������


�
	
���������������
:P^
�� �O� ����7��G�
�9�D����
����P���7�D ��D����P���������J8D
=�=�
��
 �O� ?�����X������X
���:��
	�
���������IV
 �[�
�
���V
��
���:��
	�
��
�
	
�����W�D

����
 ��

�V
 �������7��G�
�9X
���J8D
�V
[�LP7�������:7�
��P7
�97[�����P�DH��
9	�@:P^
���
:
�
��
����

�
	
���� 
 
             ���� 
 
                               
                                                                        
                                                                                                     
 
                     
                                                                                  P����8 
                                                                                                                                       
���� A 2  7��
:��
=�����H�� 
  
 X
���P�D:��
����������

�
	
����H���������X������X
���:��
	�
 (Travel Cost 
Method) 7����?���
������:���D�9L�� 2 ���� �O� ��������[�
�8���	�
���

�
	
������
7?�
	�@
	��
:	�@��������X������X
���:��
	�
X
�D���:�� ��D��������[�
�8���	�
���

�
	
������

7?�
	�@	��
:	�@��������X������X
���:��
	�
�D�������� Mishan (1976 ���
X
 
��>��  :G�����
9, 
2543) 
  
��� ����K���5���������������������4M��� A����6� A����������6���G�	���=������=����6������
�G���6�� (Zonal Travel Cost Method) 

 
 ��������[�
�8�����
�
	
������
7?�
	�@	��
:	�@�������� ��:���D�9���X������X
���
:��
	�
X
�D���:�� X�����������:���D�9��DP�D��8�[�
�
���V
��
�����	��
:	�@��������X������
X
���:��
	�
��D����P�	�
:>�Jb���7�
��H�����
:P^
:�� ����
�V7����?X��L���������X
7��G
�����[������
������ �O�	���:G��
�[�
�

��	��
:	�@��	�@��	��
:	�@�����:�8����

�
	
����
�V

X
����DPY��������:����O���
����X� :GO@��7�
?I
�D�D	�
X
���:��
	�
��

��	��
:	�@�����	�@

7��
:��
=�����H�� 

:7�
��P7
�9
�
	
���� 
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G����>������
����

�
	
���� ��D���X������X
���:��
	�
H��:]��@���
����D:�� H����:���D�9
���X������X
���:��
	�
�D���:�� ����V
��
	�@7[���C ��
���LP
�V �O� (7�G�  ��>���

	9, 2540) 
  
 1. ���
GOV
	�@H����>��	�@��V
��
����
	��
:	�@�� :P^
>�
�9���
GOV
	�@��>��������>�
�9���

���
���:P^
�
���
X
�D�D���
���
a��
 ��D���
���:P^
:�����
a 

 
2. :�W��������������[�
�
=��X�������� ���X������X
�����	��
:	�@�� ��D�D�D	�
	�@X��

X
���:��
	�
���	�@������>��LP��
����
	��
:	�@�� 
 
3. �[�
�8������������:	�@����
P�D����X
����D:�����P�D���� 1,000 �
 

 
 4. �[�
�8������7��G�
�9�D����
�����	��
:	�@�����P�D���� 1,000 �
������X������
:]��@������
X
���:��
	�
��	��
:	�@�� 
 
  5. 7���
:P^
:7�
��P7
�9�����
�����	��
:	�@��	�V
�����
P�D���� H�����
[�=�
��
7��������7��G�
�9�D����
����������	��
:	�@�����P�D����� 1,000 �
 ������X������:]��@�
����
�����
X
���:��
	�
��	��
:	�@�� ���[�
�8����������������
	��
:	�@�����P�D���� 
1,000 �
 X
����D:�� :�O@������7��������:G�@����X����������
�����
X
���:��
	�
��	��
:	�@��	�
�D�D����IV
LP:�O@��a 
 
 6. �[�
�8��GOV
	�@X��:7�
��P7
�9X
��� (5) GOV
	�@X��:7�
��P7
�9
�V �7�
?I
����������:�W�
������

��	��
:	�@�� ��O�P�DH��
9:GO@����
�
	
������O�	��
:	�@�����PY 
 
��� ����K���5��������������������� ���4M��� A����6� A����������6���G�	���=������=����
6�������G�������
 (Individual Travel Cost Method) 
 
 ��������[�
�8�����	�
���

�
	
������
7?�
	�@	��
:	�@�� ��������:���D�9���X������
X
���:��
	�
�D�������� X����������[�
�8��:7�
��P7
�9�7�
�������
���:��
	�
��	��
:	�@��
����

�
	
�����D�������� �������7��G�
�9�D����
���X������X
���:��
	�
 ����[�
�
���V

��
���:��
	�
��	��
:	�@������

�
	
������
����D����� 7[���������P�	�@�D
[���X��X
���
��:���D�9 �O� ���X������X
���:��
	�
 �����
:��� ��D����P�	�
���
:>�Jb�����D7�
���O@
 a
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:��
 �D������L�� �D������>I�J� ���� :G> :P^
��
 xI@
������	�@�D
[�����:���D�9:P^
�������D���
�����xI@
�D7D	��
?I
��P7
�9X
���:��
	�
 ��DX�����	�@�������D:������D7D	��
?I
G�������
���	��
:	�@����������L�����:�
����������:���D�9���X������X
���:��
	�
�D���:�� ��D������:���D�9
���X������X
���:��
	�
�D������������V
��
	�@7[���C��
���LP
�V  
 

1. �D��	�@��V
���:����D���J8D	�

�
	
������
����

�
	
����	�@�D>I�J� H��
����D��?I
7?�
	�@��V
 ���J8D��
����

�
	
����	��	
�O@
a	�@
��	��
:	�@��7����?:�O��X��
������	��	
����

�
	
����	�@�D>I�J�����  
 

2. �[��
��
���������
����[�
�

��	��
:	�@��	�V
���X
����DPY ��D	[����7����J89

��	��
:	�@��	�@:P^
�������
 8 ����

�
	
����	�@>I�J�H��X�����7��?�� 
 

3. >I�J�����7��G�
�9�D����
����P���7�D L����� ���X������X
���:��
	�
 P`����	�

:>�Jb�����D7�
������DP`�����������P�����O� �[�
�
���V
��
�����	��
:	�@������


�
	
����H��X���������D�������� ��DX��������:���D�97�7��G�
�9 (Correlation) 

 
Qi  =   f (Tci  , xi )        (1) 

 
 H��	�@   
 

 Qi = �[�
�
���V
��
�����	��
:	�@�� 8 ����

�
	
������
����� i X
�D�D:��� 1 
PY 

 
 Tci = ���X������X
���:��
	�
LP��D���� �D����
����
	�@G����>��?I
����

�
	
����

��
����� i xI@
P�D������� ���G��
DX
��� :��
	�
LP��D������������
:��O@�
�O@� ���	�@G����� ���X�������O@
a	�@:���������X������:GO@����	��
:	�@������


�
	
������
����� i 

 
 xi = ����P�	�
���
:>�Jb�����D7�
�����
 a ��
����� i 	�@:��
	�
��	��
:	�@��

����

�
	
���� i ��	�:��
 ���L��, �D������>I�J� ����, :G> 
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  ������7��G�
�9�D����
�[�
�
���V
��
�����	��
:	�@������

�
	
������� ����P�
��7�D :GO@��7�
�������P�X�������7��G�
�9����[�
�
���V
��
�����	��
:	�@������

�
	
����
��

��	��
:	�@�� 

 
 4. 	[����P�D:��
������	�

�
	
���� H��������:���D�9���X������X
���:��
	�
�D���
����� 
 
 4.1 ���7������P7
�9 xI@
�7�
����7��G�
�9�D����
�[�
�
���V
��
�����	��
:	�@��
������X������X
���:��
	�
������V
��
����� i ��D����P���7�D���
a 
[����[�
�8��7��
:��

=�����H����
����� i X
���
:���	�@	[����>I�J� H���[�
�8��GOV
	�@X��:7�
��P7
�9�7�

����7��G�
�9�D����
�[�
�
���V
��
�����	��
:	�@�� ������X������X
���:��
	�
������V
��
����� 
i �����������P��G�
�9 (Integrate) X
���
���X������X
���:��
	�
��
����� i (Tci) ?I
 (Tci max)
���X������X
���:��
	�
7�
7����
����� i ��O� Choke price (�D�������	�@	[�X���[�
�
���V
X
���
:��
	�
��	��
:	�@������

�
	
���� = 0 ��O�L��:��
	�
��	��
:	�@������

�
	
����
�V
:��) 
      
  H��X��7��� 
 
      Tci max 
  CSi = ∫ (Tci , xi) dTc       (2) 
           Tci 
 

 4.2 �[�
�8��7��
:��
=�����H��������V
��
�����	��
:	�@������

�
	
����H��
�[�
�8��� 

 
 7��
:��
=�����H��������:��
	�
 1 �������
 = 7��
:��
=�����H���������� ��� 
�[�
�
���V
��
�����	��
:	�@������

�
	
������
����� i :]��@����PY 

 
 4.3 �[�
�8��7��
:��
=�����H��	�V
�����

��	��
:	�@��	�@:��
	�
��	��
:	�@������


�
	
���� (������	�

�
	
����) H��
[����7��
:��
=�����H��������:��
	�
 1 �������
 ��8
�����[�
�

��	��
:	�@��:]��@�	�V
������PY 	�@��	��
:	�@�����:�8����

�
	
���� 
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  ������	�

�
	
������
����

�
	
���� = 7��
:��
=�����H��/���:��
	�
 1 ���
����
 ��8 �[�
�

��	��
:	�@��:]��@�	�V
������PY 
 

���������:���D�9���X������X
���:��
	�
�D�������� �����L��:P����X
���X���������
���������:���D�9���X������X
���:��
	�
�D���:�� :
O@�
������������:���D�9���X������X
���:��
	�

�D�������� X��������	�@�����������������������DX�����	�@��P�D7�	����G��������������
��:���D�9���X������X
���:��
	�
�D���:�� xI@
X��������X
��G�����
����D:��:P^
������D�����
7���������P7
�9	�@P�D��8L�� �D:P^
����	
��

��	��
:	�@���������D:��xI@
�D7D	��

G�������H��:]��@���

��	��
:	�@��	�V
��� �������������������:���D�9���X������X
���:��
	�

�D�������� :P^
��P7
�9xI@
7D	��
�������������������DX�����	�@�������D:������D7D	��
?I

G����������	��
:	�@����������L�����:�
���� (�����	�����7�H�	������������, 2542) 

 
>L?���
G������C�>L?�����=����� �����6���G�	���=������=����6�������G�������
 

 
7[�����P`C����D������P`C�����X�����������:���D�9���X������X
���:��
	�
�D�������� 

(ITCM) 7����?7��P:GO@�X��7������
������>I�J����V

�V L����

�V (H7�7���  :G���

	9, 2543) 
 
 1. ���:�O��X����P���7���� X
���:�O����P���7����7[�����7������P7
�9���
���

:P^
P�D:�W
7[���C :G��DX
	�
	�J��L��L���D����P���7����	�@:���D7� ���:�O��X����P���
7����	�@���
��
�D	[�X���[����	�@L���������[�
�8���7��
:��
=�����H�����
��
  
 
  7[�����������L�P`C�� ���:�O��X����P���7���� :
O@�
���X
	�
	�J��L��L�������
�[��
���P���7����	�@�
����7[�����:	�
�� ITCM ��

�V
�����
I@
	�@X��:�O����P���7�����O� ���
G����8�7����	�@X�����7��P�D7�	���������7�
X� (R2) ���	�@7�� 
 
 2. ���?�P�D7
�9��
���:��
	�
����
����

�
	
���� �����:���D�9H��X�� ITCM ���

G������������������
�D����

��	��
:	�@��	�@��������
����LP��
����

�
	
����	�@	[���� 
>I�J�H����
 (Purposive visitors) ��D
��	��
:	�@��	�@L��L����:Pc�����LP��
����

�
	
����
H����
 ���L���������G�X����	�@7��:�O@�:��
	�
	��
:	�@��LP��
7?�
	�@���
a ��D��DLP��
����


�
	
����xI@
:P^
GOV
	�@>I�J�����7�:�����
P�D��� 
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 7[������������L�P`C�� ���X�����7��?�� X��
��	��
:	�@��X�������D�

����7
��
����:G���:G��
 ��O����:��������������������LP��
����

�
	
����	�@:P^
GOV
	�@>I�J� H��
:P����:	����������:G���:G��
 ��O����:��������������	�V
���	�@:����IV
�������:��
	�
 H��
�����D�

	�@X�������D����
 0-1 ��O� 0-100 :P^
��
 ����
[������D�

��
�����LP?��

V[��
��
��
	�
���:��
	�
	�V
��� :GO@���7��7��
��O���
	�
���:��
	�
	�@
��	��
:	�@����DLP��
����


�
	
����	�@:P^
GOV
	�@>I�J� 

 
��������� A6� A������ 

 
����>�����  >��P�D���
>9 (2544) 	[���������:�O@�
���P�D:��
������	�

�
	
������D

������	�
:>�Jb>�7��9	�V
�����
����:��DG�G�����������:���D�9���X������X
���:��
	�
�D�������� 
	[����7��?��	�V
���L	���D���
P�D:	> X���������
�[�
�
 630 �������
 H��:�O��X����P���
7���� Double log demand function G���� P`����	�@��=�����[�
�
���V
X
���:��
	�
��	��
:	�@��
����:��DG�G� X
��8�
��	��
:	�@�����L	� L����� P`�������:P^
7������
�9���7�@
����������X������
X
���:��
	�
 ��D�D������>I�J� X
��8�
��	��
:	�@��X
���
P�D:	> G���� P`����	�@��=����
�[�
�
���V
X
���:��
	�
��	��
:	�@������:��DG�G� L����� P`�������X������X
���:��
	�
 7?�
��G
7��7 :G> ����  ��D������	�

�
	
������
����:��DG�G����
��	��
:	�@�����L	� :	����� 69.90 
���
��	 ��D��
������
P�D:	>:	����� 8,146.44 ���
��	 

 


���  ��
�D��
 (2545) 	[���������:�O@�
���P�D:��
������	�

�
	
���� ��D������	�

:>�Jb���	�V
�����
����:��DG�G�����������:���D�9���X������X
���:��
	�
�D�������� :GO@�P�D:��

������:��

�
	
������
����:��DG�G� ��DX������7�����:������89X��P�D��8��� :GO@�P�D:��
������
	�
:>�Jb���	�V
��� H��X���������
�[�
�
 350 �������
 H��7��?��:]G�D
��	��
:	�@�����L	�  
=����������:���D�9���X������X
���:��
	�
�D�������� G���� P`����	�@��=�����[�
�
���V
X
���
:��
	�
 L����� ���X������X
���:��
	�
  H��L��G����8������
:��� :G> ��D7?�
��G �����
���
G��:P^
��
���:�
 ��DG����7����	�@:���D7�����X
��P Double log demand function ��D��
������	�

�
	
���� :	����� 72.30 ���
��	 7[�����������	�
:>�Jb���	�V
�����
����:��DG�G�
:	����� 23,589.92 ���
��	 
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���>�����  �
>9>������ (2547) 	[���������:�O@�
���P�D:��
	�
���

�
	
������
��	��

7����9 ��
����
��7����9 ����������:���D�9���X������X
���:��
	�
�D�������� H��X���������

�[�
�
 318 �������
 =����������:���D�9���X������X
���:��
	�
�D�������� G���� P`����	�@��=����
�[�
�
���V
X
���:��
	�
 �O� ���X������X
���:��
	�
 :G��
����
:���� ��DG����7����	�@
:���D7�����X
��P Log linear demand function ��D��������	�

�
	
����:	����� 51.43 ���
��	 

 
���C  ����G�
�9 (2547) 	[���������:�O@�
���P�D:��
������	�

�
	
������
��	��


���
��������
���
���� ��
����G�J8�H�� ����������:���D�9���X������X
���:��
	�
������
:�� ��D 
��DX������7�����:������89X��P�D��8��� H��X���������
�[�
�
 626 �������
 =����������:���D�9
���X������X
���:��
	�
�D��� G����P`����	�@��=�����[�
�
���V
X
���:��
	�
 �O� ���X������X
���
:��
	�
:G��
P`����:���� ��DG����7����	�@:���D7�����X
��P Double log demand function ��D
������	�

�
	
����:	����� 55.45 ���
��	 7[�����=����������:���D�9����7�����:������89X��
P�D��8���G����P`����	�@��=��������:�W�X����� L����� ���L��:]��@����:�O�
��

��	��
:	�@�� ����
��

��	��
:	�@�� ��D���X������X
���:��
	�
 7[����������������:	����� 2.33 ���
��	 

 
8����  ���
��K
�
���� (2547) 	[���������:�O@�
���P�D:��
������=�P�DH��
9	�



�
	
�������:�8����������[�GI
 ��
�����D��
����������:���D�9���X������X
���:��
	�
�D���
����� H��X���������
�[�
�
 322 �������
 =����������:���D�9���X������X
���:��
	�
�D�������� 
G����P`����	�@��=�����[�
�
���V
X
���:��
	�
 L����� ���X������X
���:��
	�
 ��D���>I�J� ��D
G����7����	�@:���D7�����X
��P Linear demand function ��D��������	�

�
	
����:	����� 
217.18 ���
��	 

 
�
���  ���
G�
��9  (2547) 	[���������:�O@�
���P�D:��
���������
��D������������



�
	
������
GOV
	�@?V[�:�:����� ��
�������
 ����������:���D�9���X������X
���:��
	�
�D�������� 
H��X���������
�[�
�
 321 �������
 =����������:���D�9���X������X
���:��
	�
�D�������� G����
P`����	�@��=�����[�
�
���V
X
���:��
	�
 �O� ���X������X
���:��
	�
 :G��
����
:���� ��DG����
7����	�@:���D7�����X
��P Double log demand function ��D��������	�

�
	
����:	����� 
250.02 ���
��	 
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P�
���  ���7�����8�9 (2550) 	[���������:�O@�
���P�D:��
������
�
	
������
��	��

���
����:��7��������� ��
����P�D���������
�9 ����������:���D�9���X������X
���:��
	�
�D���
����� H��X���������
�[�
�
 323 �������
 =����������:���D�9���X������X
���:��
	�
�D��������
G���� P`����	�@��=�����[�
�
���V
X
���:��
	�
 L����� ���X������X
���:��
	�
 ��DG����7����	�@
:���D7�����X
��P Linear demand function ��D��������	�

�
	
���� :	����� 259.98 ���
��	 

 
Himayatullah (2004) 	[�����������P7
�9
�
	
���� ��DP�D:��
��������
��	��


���
���� Margalla hills X
P�D:	>P���7?�
H�������?�P�D7
�9:GO@�P�D:��
������P�DH��
9���


�
	
������
��	��
���
���� Margalla hills ����������:���D�9���X������X
���:��
	�
�D���
����� ��D:GO@���:���D�9��P7
�9
�
	
������D������P�DH��
9���

�
	
����	�@:P��@�
�P�
LP
X
��8�	�@�����P���P��
��8��G���

�
	
�������X
��	��
z H��X���������
�[�
�
 1,000 
�������
 =����������:���D�9���X������X
���:��
	�
�D�������� G����P`����	�@��=�����[�
�
���V

X
���:��
	�
 �O� ���X������X
���:��
	�
 ���L�� ��D�D�����8��G��
��	��
z ��D��������	�


�
	
���� :	����� 3.47 ���
������97���b ��DX
��8�	�@�����P���P��
��8��G���

�
	
����
���X
��	��
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�[�
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K���� ������ �K�����������/�����bK� �K����(��) ����/�@� 
1 ���
����
 101 (��
����) 1/1 3 600 
2 ���
����
����
V[����
 1/1 3 600 
3 ���
����
 104 (�8�:	��) 2/2 6 1200 
4 ���
����
 104 (�c��Pd�) 3/2 8 1600 
5 ���
����
 911 (

	��) 2/2 40 4000 
6 ���
P�D��� - 50 - 
7 ���

V[�����C�
 ���
V[� 2 7��� 2 - - 
8 ���

V[������� ���
V[� 2 7��� 3 -  
9 :�W
	9:�W� - -  
10 :�W
	9X�C� - -  
11 ��
��
:�W
	9 - 200 �
�D 30 
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���6�������� A  
 

1. ��������� �[�
�
 4 ��� 
 
2. ������
P�D�[�   �[�
�
 11 ��� 
 
3. G
��
�
������ �[�
�
 62 ��� 
 
4. ������
��@����������
 �[�
�
 33 ��� 
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����� ���
�
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1. :����
��	�@���
������ L����� ������
�������
G�� :����� ������ P�D��7��G�
�9 

��	�����������J�����P������
��	��
:	�@�� P�D��8 60 �
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P���P��
����	�>
9���:�8��
���
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Pc����	��
z��DP���P��
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7���
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1 ���
 
1 ���
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3 ���
 
4 ���
 
1 ���
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 ��
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���7����������
��
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 ��D�D�������:�O@���@
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������ A 3  7?���
��	��
:	�@����	��
���
��������

����  PY G.>. 2545 � 2549 
 

�.9. �K�����������6� A�� (��) 
2545 23,444 
2546 21,910 
2547 22,130 
2548 23,784 
2549 33,599 
��� 124,867 

6l
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������ A 4  ����
���7����������
 
 

�K����
>�G���� 

����6�@A���A� 
����
G 99 

����6�@A���A� 
����
G 98 

����6�@A���A� 
����
G 97 

����6�@A���A� 
����
G 95 

500,000 7,933 2,009 895 322 
100,000 7,465 1,977 888 322 
50,000 6,945 1,939 881 321 
20,000 5,749 1,832 858 318 
10,000 4,465 1,678 823 313 
5,000 * 1,437 760 303 
4,000 * 1,341 732 299 
3,000 * 1,206 690 291 
2,000 * * 619 278 
1,000 * * 473 244 

	�@��: Arkin and Colton(1963) 
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Model 1: Linear demand function         
 

 Q = a + b1Tc +  b2A + b3E +  b4Y       (3) 
 
Model 2: Log - linear demand function  
  

 lnQ = a + b1Tc +  b2A + b3E + b4Y      (4) 
  

Model 3: Double - log linear demand function 
 
lnQ = a + b1lnTc + b2lnA + b3lnE + b4lnY (5) 
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                 Tc max 

              CS = ∫ (Tc, A, E, Y)Tc       (6) 
                Tcmean 
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��� 318 100 
   

����
��������	��
z   

            :GO@�
/ C���G�@
��
/7�����X
�������� 214 67 
            ���J�		��
:	�@�� 3 1 
            :��7��:=��G�����	��
:	�@�� 34 11 
            H	�	�>
9/ ��	�� 52 16 
             �O@
z 15               5 

��� 318 100 
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������ A 6  (���) 
   

��85G����������������� �K���� ����
G 
   
7�@
�I
���X�X����:	�@����	��
z                        
             ��������������
	��G������������ 110 35 
             ���:��
	�
7D��� 61 19 
             �������:��

�
	
����X
��	��
z 64 20 
               �����������D7�@
�[�
������7D��� 67 21 
             �O@
a 16 5 
                                               ��� 318 100 
   
G��
D	�@X��   
            :��
/ �?������
 11 3 
            �?������
�
�9 95 30 
            �?�
�97��
��� 193 61 
            �?:����������=���O@
 13 4 
            �O@
a 6 2 

��� 318 100 
   
������V
X�X
�����	��
:	�@����	��
z   
            ��V
X���	�@
�V���
:���� 262 82 
            ��V
X�LP	�@�O@
���� 56 18 

��� 318 100 
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������ A 6  (���) 
 


��85G����������������� �K���� ����
G 
   
��P��������
�
	
����   
            ��:��� � :�W
���� 251 79 
            G�����
�O
 
                          1-2 �O
 
                          3-4 �O
 

67 
(35) 
(32) 

21 
(52) 
(48) 

��� 318 100 
   
�[�
�
���V
	�@��:	�@����	��
z ���V
/PY   
            1-2 172 54 
            3-4 45 14 
            5-6 61 19 
            ������� 6 40 13 

  ��� 318 100 
 
 3. ���X������X
���	��
:	�@�� 
 

  ���X������X
���:��
	�
��	��
:	�@����	�
���
��������

����P�D������� 
���X������X
���:��
	�
 ����������D:��O@�
�O@� ���	�@G�� �����
	�@�D�I� ��D���������� ���X������
X
���:��
	�
:P^
���X������	�@��7��7��
7�
	�@7�� �O� P�D��8�����D 42 ��
�
���O� ����������D
:��O@�
�O@� �O�P�D��8�����D 29 ��
���X������X
���	��
:	�@�� 	�@:��O��O�P�D��8 1 X
 3 :P^
���	�@
G�� �����
	�@�D�I� ��D����������  

  

 ���X������X
���:��
	�
����	��
���
��������

���� :P^
���X������	�@X��X
���
:��
	�
LP-���� L����� ���
V[���
�?7��
��� ��O�����?H��7�� ��D���G��
DX
GOV
	�@ ��O�
���X���������:�������X
��8�	�@��������J�	
[�:	�@�� ��D���X�������O@
a :��
 ���x����? ���	�
���
 
���������8� 
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 =����>I�J� G���� ���X������X
���:��
	�
:]��@���
=��	�@��	��
:	�@��GOV
	�@��	��

���
��������

���� P�D��8 1,532.87 ��	����
 H�������X�������@[�7��:	����� 120 ��	 ��D
7�
7��:	����� 14,745 ��	 :�O@�G����8�:P^
���
=��	�@ :��
	�
��	��
:	�@����	��
z 7��
X�C���
���X������X
���:��
	�
L��:��
 1,000 ��	 ���:P^
�����D 53 ��
�
������X
���
���X������ 1,001�
2,000 ��	 ���:P^
�����D 23 ��D���
���X������ 2001�3,000 ��	 ��D���
���X������ 3,000 ��	�IV

LP ���:P^
�����D 11.0 ��D 14 ����[���� (����
	�@ 7) 
 

������ A 7 ������������
�[��
�������X������X
���:��
	�
 
 

���=������=����6������ �K���� ����
G 
L��:��
 1,000 ��	 168 53 
1,001 � 2,000 ��	 72 23 
2,001 � 3,000 ��	 33 11 
3,000 ��	�IV
LP 45 14 

��� 318 100 
 

 

 4. ���X����������
����
	��
:	�@�� 
  

 ��8��G��
���X����������D7�@
�[�
������7D�����
����

�
	
����:P^

�
�9P�D����
I@
 	�@�I
���X�X��
��	��
:	�@����	��
:	�@�� ��

�V
������:�W
��D���:7
��
D���

��	��
:	�@��	�@��������X����������
��	��
���
��������

�����I
������7[���C������G�K
�
��DP���P��
��	��
zX��������:���D7����
��	��
:	�@����@
�IV
 xI@
������:�W
��D���:7
��
D��


��	��
:	�@��	�@����������������
��	��
���
��������

���� L���7�
L��X
����
	�@ 8 

 
  xI@
�������
	�@ 8 �D:�W
���X
������������

��	��
:	�@��G���� �������D����P������
X
���	��
:	�@����	��
���
��������

��������X
�D���G�X� �O���=��	�@G�X�����P�D��8 �����D 
64 	�@:��O������D 36 :�W
��� ��	��
���
��������

�������P���P��
�D�����J�����P������
X����P�D7�	����G����
�V H��=��	�@��	��
:	�@�� ���������:�W
:G�@�:���������:G�@��[�
�
��
:����
��	�@
X
�������D����P������:G�@��IV
 H��:]G�DX
���
:	>������
a 
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  ���
��8��G��
7O@�	�@X��������:��@�����GOV
	�@  :��
 :��7�� Pc��7O@��������� 

�	��>��� ������������
��
=��	�@��	��
:	�@��7��
X�C�:�W
��� ���P���P��
���:P^
�����D 32 	�@
:��O��O� �����D 68 :�W
���:P^
	�@
��G�X� H��=��	�@��	��
:	�@�����������:�W
:G�@�:������ ���:G�@�Pc��
���
:�O�
X
GOV
	�@���������D������:7�@�
	�@�D:�����
����7�
 :GO@�:�O�
X�X��
��	��
:	�@��������
�D����D��
����IV
 
 
  X
���
���X����������������
:����
��	�@ ������������
=��	�@��	��
:	�@��7��
X�C� �O�
P�D��8�����D 70 ������G�X�X
�����������
����� 	�@:��O���������D 30 :�W
������L��������
P���P��
 H��:]G�D������X����:����
��	�@P�D�[����	��
:	�@��7[���C���
aX��	�@�?I
 :GO@�X���������
��D�[�P�I�J�:��@�����G�
��9L�� 7���9Pd� ���
��	��
:	�@�� 
 
  X
���
7�@
�[�
������7D��� :��
 	�@G�� ���

V[� ?�
��D ��
����? P�D��8�����D 
63 ��
������������
:�W
���:P^
	�@
��G�X� 7��
	�@:��O�:�W
�������DP���P��
H��:]G�D���:G�@�7�@

�[�
������7D������
a :��
 	�@G��=��
 ���

V[� ��
����?���
a X��	�@�?I
���:�8����
	��
:	�@��
	�@7[���C 
 
  X
���
����7D�����D����:P^
�D:������
����
	��
:	�@����	��
���
��������


���� ������������

��	��
:	�@��7��
X�C������D 70 ������:�W
���:P^
	�@G�X� ��������D�����D 
30 :�W
������P���P��
 H��:]G�D���:G�@����	�V
��DX
���:�8���	��
:	�@��X��	�@�?I
 ��D���
7�
:7���X��	�V
��DX
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:P^
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������ A 8 ������:�W
��D���:7
��
D�[��
�����[�
�
�������
 
 

���>���>���                            ��=� 
������ 

�K���� ����
G �K���� ����
G 
�����������P������X
����
	��
:	�@�� 
 

114 36 
 

204 
 

64 
 

��8��G��
7O@�X
���X��������:��@�����
GOV
	�@��	��
z :��
 :��7�� Pc��7O@�
�������� 
�	��>��� 
 

121 
 

38 
 

137 
 

 

62 
 

���X��������������:��@�����	��G������D
7�@
�������X
GOV
	�@��
:����
��	�@ 
 

 

44 
 

30 
 

 

224 
 

 

70 
 

7�@
�[�
������7D��� :��
 	�@G�� ���

V[� 
?�
��D ��
����? 
 

113 
 

 

37 
 

199 63 

������J�����7D�����D����:P^

�D:����X
����
	��
:	�@����
��	��

���
��������

���� 
 

57 30 221 
 

70 
 
 

 

 
��
���������������������������������������������� 

 
 ���=����>I�J�P`����	�@����	��G�����[�
�
���V
��
���:��
	�
��	��
:	�@����


��	��
:	�@��	�@��
�
	
����X
GOV
	�@��	��
���
��������

���� G������:G��
P`�������X������X

���:��
	�
 (Tc) :G��
P`����:����	�@��
��7[���C	�
7?��� ��O�:P^
P`����	�@��=�������:��
	�
��
	��
:	�@����

��	��
:	�@�� ��D����[���
	�@:���D7�	�@7���O�����[���
X
��P��� Double log-
linear demand function :
O@�
���X�����7��P�D7�	���X
������7�
X�7�
	�@7�� �O� 0.724 ��
����
	�@ 9 
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7[���������P����X������X
���:��
	�
 (Tc) �O� ���X������	�@:����IV
�������:��
	�
��
	��
:	�@����

��	��
:	�@�� P�D������� ���X������X
���:��
	�
LP-���� (���
V[���
�? ��O� �������
�?H��7�� ���������8�) ���?I
����������D:��O@�
�O@� ���	�@G�� �����
	�@�D�I���D����������
7[�������8�	�@
��	��
:	�@�������?�P�D7
�9X
�����	��
:	�@����������
I@
���
 �I
	[����?��


V[��
�����X������X
���:��
	�
��

��	��
:	�@�� H��X��
��	��
:	�@��	�@�����?�P�D7
�9X
�����
	��
:	�@����������
I@
���
 X������D�

����7
��7
�
������	�@L��
�
	
����X
GOV
	�@��	��

���
��������

����:	���7��7��
�������

�
	
�����O@
a�������:��
	�
 H������D�

:�W� 
�O� 100 �D�

 ��
���=
�� �  
 
������ A 9 =������:���D�9�������[���
 ITCM 
 

����>� 
����K�
��� A 1 

linear demand function 
����K�
��� A 2 

log linear demand 
function 

����K�
��� A 3 
double log linear 
demand function 

 ���
4��>�G4����t 

���4M���  
t 

��� 
4��>�G4����t 

���4M��� 
 t 

���
4��>�G4����t 

���4M���  
t 

constant 6.261 ** 14.167 1.850 ** 13.875 5.587 ** 18.918 
Tc -.00064** -9.435 -.00024** -11.786 - - 
lnTc - - - - -0.640 ** -24.804 
A -.0331** -2.369 -.0092** -2.186 - - 
lnA - - - - -.055 -5.26 
E -0.211** -2.406 -.061** -2.304 - - 
lnE - - - - -.00697 -0.099 
Y -.000019 -1.256 -.000008 -1.735 - - 
lnY - - - - -.0238 -0.561 
R2 0.359 0.440 0.724 

Adjusted-R2 0.351 0.433 0.720 
F 43.817 61.535 205.028 
N 318 318 318 

����:��� : ** �7�
�D�������:�O@���@
�����D 95 
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 (18.918)   (-24.804)** 

 ���=������:���D�9����������[���
 ITCM (����
	�@ 9) 7����?:���
7������P7
�9
��
���
�
	
����X
��P������
aL�� ��

�V 
 
 Linear demand function 
 
 Q = 6.261   -   0.00064Tc   -   0.0331A   -   0.211E    (7) 
   (14.167)    (-9.435)**       (-2.369)**   (-2.406)** 
  
 R2 = 0.359 Adjusted-R2    =    0.351 
 F =     43.817                N     =   318 
 
 Log linear demand function 
  
 LnQ  =  1.850   -   0.00024Tc   -   0.0092A   -   0.061E    (8) 
   
 
 R2 = 0.440        Adjusted-R2    =     0.433 
 F =     61.535                   N     =     318 
 
 Double log - linear demand function  
  
       LnQ  =   5.587   -   0.640 LnTc       (9) 
  
 
 R2 = 0.724        Adjusted-R2    =    0.720 
 F =     205.028                  N    =    318 
 
            ���:�����X
�
:�W� �O� ��� t�statistic 
            ** �7�
�D���
��7[���C	�
7?��� 8 �D�������:�O@���@
�����D 95  
 
  

(-2.186)** (-2.304)** (13.875
) 

(-11.786)** 
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   4,752             

=������:���D�9���7����	�@ (9) 7��PL����� ����P����X������X
���:��
	�

��	��
:	�@�� 
(Tc) ������7��G�
�9�������������	��
:	�@����

��	��
:	�@�� (Q) 8 �D�������:�O@���@
�����D 95 
H��	�@����P����X������X
���:��
	�
 7����?����������7��G�
�9�������������	��
:	�@����


��	��
:	�@��L�������D 72.4 ������O� ����P����X������X
���:��
	�
����	��=��������������
	��
:	�@����

��	��
:	�@�����
���
��� ��D������7��P�D7�	�����
����P����X������X
���:��
	�

xI@
�����:	����� -0.640 �7�
X��:�W
�������P����X������X
���:��
	�
 �������������	��
:	�@��GOV
	�@
��	��
���
��������

���� ������7��G�
�9:��
�� ������O� ������X������X
���:��
	�
:G�@��IV
 
�D	[�X������������	��
:	�@����

��	��
:	�@�����
  ��DX
	�
������
������X������X
���
:��
	�
���
����������	��
:	�@��GOV
	�@��	��
���
��������

������

��	��
:	�@���W:G�@��IV
 
 

������=�P�DH��
9	�

�
	
����  
 
 ������=�P�DH��
9	�

�
	
����GOV
	�@��	��
���
��������

���� 7����?��L�����
�����GOV
	�X��:7�
��P7
�9H�������X������X
���:��
	�
7�
7�� (Choke price) ��
������������


��	��
:	�@��	�@7[���� 8 ��	��
���
��������

���� H�����:P��9:xW
L	�9	�@ 95 L�����X������:	����� 
4,752 ��	 ��D�[�
�8���[�
�
���V
X
���:��
	�
��	��
:	�@�����:�8��	��
z H���	

���X������X
���:��
	�
:]��@�xI@
:	����� 1,437 ��	X
7����	�@ (9) L���[�
�
���V
X
���:��
	�
��
	��
:	�@��GOV
	�@��	��
���
��������

����:	����� 2.54 ���V
���PY ������	�@L��
[���7���
:7�
��P7
�9
�����
�
	
���� L����
��G	�@ 5  
 
���X������X
���:��
	�
 
 

                                                                        
                                                                                                   

                       
          
                                                                                 
                                                                                      �[�
�
���V
X
���:��
	�
 (���V
/PY) 
                 
���� A 4  ��P7
�9���
�
	
������D���:]��@���
���X����������[�
�
���V
��
�����	��
:	�@�� 
  

 

     2.54 
   0 

 1,437 
Demand 
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Tcmax 

Tcmax 

  0.360 0.360 

2.71785587*Tcmax
(1-0.640) 

2.71785587*1,436.88(0.360) 

   2.71785587*Tcmean
(1-0.640)            

2.71785587*4,752(0.360) 

 
[�7������P7
�9xI@
�7�
����7��G�
�9�D����
�[�
�
���V
	�@��	��
:	�@��������X������X

���:��
	�
 (7����	�@ 5) ���[�
�8��7��
:��
��
=�����H��:]��@���
����� H��	[������GOV
	�@X��
:7�
��P7
�9�����������P��G�
�9(Integrate) �D����
���X������X
���:��
	�
:]��@���
����� (Tcmean) 
?I
 (Tcimax) ��O����X������X
���:��
	�
7�
7����O� Choke price L����

�V 
 
 lnQ  =       5.587  �  0.640 lnTc                                                                           
     
 Q =   e5.587  * TC (-0.640)                   

 
                                              
 CS =           ∫ (Q)dTc         
                                              
 
 CS =       e5.587         

 
 
 
�	
���   Tcmean  =   1,436.8 , Tci max   =   4,752   ��D ��� e   =   2.7178 

  
 CS  =     

                                                                                   
  

 CS =      
                                                                                               
        

 = 8,447  ��	����
 
 
 ������7��
:��
=�����H��:]��@�����
	�@�[�
�8L��:	����� 8,447 ��	 
[����[�
�
��
7��
:��
=�����H������
������:��
	�
 1 ���V
 H�������������[�
�
���V
��
�����	��
:	�@��
GOV
	�@��	��
���
��������

������

��	��
:	�@�� :	����� 2.54 ���V
 ��

�V
7��
:��
=�����H��X
���
��	��
:	�@����	��
���
��������

��������
������V
�I
:	����� 3,324.80 ��	 

Tcmean 

 (1-0.640) 
Tcmean 

*Tc(-0.640) 

1-0.640 1-0.640 
- 

- 
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�����B���� A 1 �7�
���X������X
���:��
	�
��
����� i. �D�
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� ��D���X������	�@L��������?��

V[��
�� 

 

K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 
1 100 60 60 ��V
X��� 
2 100 600 600 ��V
X��� 
3 100 250 250 ��V
X��� 
4 100 250 250 ��V
X��� 
5 100 250 250 ��V
X��� 
6 100 800 800 ��V
X��� 
7 80 110 88 :	�@������	�@ 
8 100 500 500 ��V
X��� 
9 80 100 80 :	�@������	�@ 
10 100 200 200 ��V
X��� 
11 100 300 300 ��V
X��� 
12 100 400 400 ��V
X��� 
13 100 6600 6600 ��V
X��� 
14 90 3500 3150 :	�@������	�@ 
15 100 200 200 ��V
X��� 
16 100 250 250 ��V
X��� 
17 100 200 200 ��V
X��� 
18 100 224 224 ��V
X��� 
19 100 400 400 ��V
X��� 
20 100 2000 2000 ��V
X��� 
21 100 700 700 ��V
X��� 
22 60 3100 1860 :	�@������	�@ 
23 100 1800 1800 ��V
X��� 
24 100 1600 1600 ��V
X��� 
25 81 90 72.9 :	�@������	�@ 
26 100 140 140 ��V
X��� 
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�����B���� A 1 (���) 
 

K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

27 100 500 500 ��V
X��� 

28 100 90 90 :	�@������	�@ 
29 100 200 200 ��V
X��� 
30 80 200 160 :	�@������	�@ 
31 100 200 200 ��V
X��� 
32 100 90 90 ��V
X��� 
33 100 1150 1150 ��V
X��� 
34 100 100 100 ��V
X��� 
35 95 1300 1235 :	�@������	�@ 
36 100 100 100 ��V
X��� 
37 100 200 200 ��V
X��� 
38 100 164 164 ��V
X��� 
39 100 94 94 ��V
X��� 
40 100 100 100 ��V
X��� 
41 100 600 600 ��V
X��� 
42 100 530 530 ��V
X��� 
43 100 280 280 ��V
X��� 
44 100 600 600 ��V
X��� 
45 100 5000 5000 ��V
X��� 
46 100 350 350 ��V
X��� 
47 100 100 100 ��V
X��� 
48 100 700 700 ��V
X��� 
49 100 5700 5700 ��V
X��� 
50 100 4700 4700 ��V
X��� 
51 100 2000 2000 ��V
X��� 
52 70 3000 2100 :	�@������	�@ 
53 100 1600 1600 ��V
X��� 
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�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

54 100 2000 2000 ��V
X��� 

55 100 2200 2200 ��V
X��� 

56 100 2200 2200 ��V
X��� 

57 100 1050 1050 ��V
X��� 
58 100 134 134 ��V
X��� 
59 100 1200 1200 ��V
X��� 
60 100 3000 3000 ��V
X��� 
61 70 1300 910 :	�@������	�@ 
62 100 300 300 ��V
X��� 
63 100 272 272 ��V
X��� 
64 75 290 217.5 :	�@������	�@ 
65 100 180 180 ��V
X��� 
66 100 220 220 ��V
X��� 
67 100 2000 2000 ��V
X��� 
68 100 300 300 ��V
X��� 
69 100 200 200 ��V
X��� 
70 100 100 100 ��V
X��� 
71 80 200 160 :	�@������	�@ 
72 100 400 400 ��V
X��� 
73 80 1000 800 :	�@������	�@ 
74 100 800 800 ��V
X��� 
75 100 1000 1000 ��V
X��� 
76 100 890 890 ��V
X��� 
77 100 2000 2000 ��V
X��� 
78 100 400 400 ��V
X��� 
79 100 200 200 ��V
X��� 
80 100 130 130 ��V
X��� 
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�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

81 89 1000 890 :	�@������	�@ 
82 100 700 700 ��V
X��� 

83 100 2200 2200 ��V
X��� 

84 100 850 850 ��V
X��� 
85 100 400 400 ��V
X��� 
86 100 3500 3500 ��V
X��� 
87 100 3100 3100 ��V
X��� 
88 100 100 100 ��V
X��� 
89 100 2000 2000 ��V
X��� 
90 50 2500 1250 :	�@������	�@ 
91 100 5200 5200 ��V
X��� 
92 100 86 86 ��V
X��� 
93 100 210 210 ��V
X��� 
94 100 3000 3000 ��V
X��� 
95 100 230 230 ��V
X��� 
96 100 300 300 ��V
X��� 
97 85 650 552.5 :	�@������	�@ 
98 70 800 560 :	�@������	�@ 
99 80 1000 800 :	�@������	�@ 
100 68 1600 1088 :	�@������	�@ 
101 100 500 500 ��V
X��� 
102 90 1100 990 :	�@������	�@ 
103 100 500 500 ��V
X��� 
104 100 4550 4550 ��V
X��� 
105 100 450 450 ��V
X��� 
106 100 1300 1300 ��V
X��� 
107 100 245 245 ��V
X��� 

 



 75 

�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

108 100 1000 1000 ��V
X��� 
109 100 300 300 ��V
X��� 
110 100 1300 1300 ��V
X��� 

111 100 80 80 ��V
X��� 

112 100 80 80 ��V
X��� 
113 100 470 470 ��V
X��� 
114 100 1800 1800 ��V
X��� 
115 100 500 500 ��V
X��� 
116 70 3220 2254 :	�@������	�@ 
117 100 2300 2300 ��V
X��� 
118 70 2500 1750 :	�@������	�@ 
119 100 31 31 ��V
X��� 
120 100 300 300 ��V
X��� 
121 100 1500 1500 ��V
X��� 
122 100 1100 1100 ��V
X��� 
123 100 400 400 ��V
X��� 
124 100 500 500 ��V
X��� 
125 100 700 700 ��V
X��� 
126 100 190 190 ��V
X��� 
127 100 1500 1500 :	�@������	�@ 
128 100 140 140 ��V
X��� 
129 100 40 40 ��V
X��� 
130 100 280 280 ��V
X��� 
131 100 1000 1000 ��V
X��� 
132 100 300 300 ��V
X��� 
133 80 1000 800 :	�@������	�@ 
134 100 700 700 ��V
X��� 

 



 76 

�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

135 78 90 70.2 :	�@������	�@ 
136 100 70 70 ��V
X��� 
137 100 50 50 ��V
X��� 
138 100 300 300 ��V
X��� 

139 100 300 300 ��V
X��� 

140 69 800 552 :	�@������	�@ 
141 100 122 122 ��V
X��� 
142 100 100 100 ��V
X��� 
143 100 600 600 ��V
X��� 
144 100 80 80 ��V
X��� 
145 100 40 40 ��V
X��� 
146 50 3300 1650 :	�@������	�@ 
147 80 800 640 :	�@������	�@ 
148 100 1000 1000 ��V
X��� 
149 100 400 400 ��V
X��� 
150 100 600 600 ��V
X��� 
151 100 1100 1100 ��V
X��� 
152 100 400 400 ��V
X��� 
153 100 1200 1200 ��V
X��� 
154 100 500 500 ��V
X��� 
155 100 300 300 ��V
X��� 
156 100 350 350 ��V
X��� 
157 100 700 700 ��V
X��� 
158 100 1560 1560 ��V
X��� 
159 100 600 600 ��V
X��� 
160 100 3000 3000 ��V
X��� 
161 100 1780 1780 ��V
X��� 
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�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

162 80 2650 2120 :	�@������	�@ 
163 80 1700 1360 :	�@������	�@ 
164 80 1700 1360 :	�@������	�@ 
165 80 9000 7200 :	�@������	�@ 
166 99 3800 3762 :	�@������	�@ 

167 80 3700 2960 :	�@������	�@ 

168 80 4300 3440 :	�@������	�@ 
169 90 3150 2831.85 :	�@������	�@ 
170 100 1050 1050 ��V
X��� 
171 100 860 860 ��V
X��� 
172 100 2000 2000 ��V
X��� 
173 100 500 500 ��V
X��� 
174 100 500 500 ��V
X��� 
175 100 800 800 ��V
X��� 
176 100 700 700 ��V
X��� 
177 100 9400 9400 ��V
X��� 
178 100 1000 1000 :	�@������	�@ 
179 100 29400 29400 ��V
X��� 
180 100 800 800 ��V
X��� 
181 100 1000 1000 ��V
X��� 
182 100 7400 7400 ��V
X��� 
183 100 300 300 ��V
X��� 
184 100 150 150 ��V
X��� 
185 100 100 100 ��V
X��� 
186 100 100 100 ��V
X��� 
187 100 50 50 ��V
X��� 
188 100 1500 1500 ��V
X��� 
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�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

189 100 1000 1000 ��V
X��� 
190 90 200 180 :	�@������	�@ 
191 100 100 100 ��V
X��� 
192 100 100 100 ��V
X��� 
193 80 4000 3200 :	�@������	�@ 
194 100 3500 3500 ��V
X��� 

195 100 100 100 ��V
X��� 

196 100 191 191 ��V
X��� 
197 100 80 80 ��V
X��� 
198 100 150 150 ��V
X��� 
199 100 250 250 ��V
X��� 
200 100 50 50 ��V
X��� 
201 100 500 500 ��V
X��� 
202 100 5200 5200 ��V
X��� 
203 70 5200 3640 :	�@������	�@ 
204 100 2500 2500 ��V
X��� 
205 100 1000 1000 ��V
X��� 
206 100 500 500 ��V
X��� 
207 100 750 750 :	�@������	�@ 
208 100 50 50 ��V
X��� 
209 100 400 400 ��V
X��� 
210 80 500 400 :	�@������	�@ 
211 100 800 800 ��V
X��� 
212 100 500 500 ��V
X��� 
213 100 6900 6900 ��V
X��� 
214 100 60 60 ��V
X��� 
215 100 3500 3500 ��V
X��� 
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�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

216 100 2000 2000 ��V
X��� 
217 90 8000 7200 :	�@������	�@ 
218 100 600 600 ��V
X��� 
219 90 4500 4050 :	�@������	�@ 
220 100 6000 6000 ��V
X��� 
221 100 600 600 ��V
X��� 
222 100 500 500 ��V
X��� 

223 80 760 608 :	�@������	�@ 

224 60 1900 1140 :	�@������	�@ 
225 50 6000 3000 :	�@������	�@ 
226 100 500 500 ��V
X��� 
227 80 800 640 :	�@������	�@ 
228 100 1500 1500 ��V
X��� 
229 100 1080 1080 ��V
X��� 
230 90 1620 1458 :	�@������	�@ 
231 50 1000 500 :	�@������	�@ 
232 100 2500 2500 ��V
X��� 
233 100 2200 2200 ��V
X��� 
234 100 1750 1750 ��V
X��� 
235 100 2600 2600 ��V
X��� 
236 100 850 850 ��V
X��� 
237 100 980 980 ��V
X��� 
238 100 2000 2000 ��V
X��� 
239 100 600 600 ��V
X��� 
240 100 100 100 ��V
X��� 
241 100 3000 3000 ��V
X��� 
242 70 700 490 :	�@������	�@ 
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�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

243 100 300 300 ��V
X��� 
244 100 80 80 ��V
X��� 
245 100 60 60 ��V
X��� 
246 100 120 120 ��V
X��� 
247 100 2100 2100 ��V
X��� 
248 100 110 110 ��V
X��� 
249 100 100 100 ��V
X��� 
250 100 1400 1400 ��V
X��� 

251 100 2500 2500 :	�@������	�@ 

252 100 2500 2500 ��V
X��� 
253 100 2200 2200 ��V
X��� 
254 100 1500 1500 ��V
X��� 
255 70 12100 8470 :	�@������	�@ 
256 100 70 70 ��V
X��� 
257 100 70 70 ��V
X��� 
258 100 2300 2300 ��V
X��� 
259 100 1100 1100 ��V
X��� 
260 100 400 400 ��V
X��� 
261 100 180 180 ��V
X��� 
262 100 160 160 ��V
X��� 
263 100 114 114 ��V
X��� 
264 100 280 280 ��V
X��� 
265 100 130 130 :	�@������	�@ 
266 100 80 80 ��V
X��� 
267 100 100 100 ��V
X��� 
268 100 130 130 ��V
X��� 
269 100 200 200 ��V
X��� 
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�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

270 70 1500 1050 :	�@������	�@ 
271 100 14700 14700 ��V
X��� 
272 100 80 80 ��V
X��� 
273 100 1600 1600 ��V
X��� 
274 100 140 140 ��V
X��� 
275 100 560 560 ��V
X��� 
276 99 400 396 :	�@������	�@ 
277 100 1500 1500 ��V
X��� 
278 100 2100 2100 ��V
X��� 

279 100 2500 2500 ��V
X��� 
280 100 1416 1416 ��V
X��� 
281 100 800 800 ��V
X��� 
282 100 2500 2500 ��V
X��� 
283 100 600 600 ��V
X��� 
284 100 400 400 ��V
X��� 
285 100 1000 1000 ��V
X��� 
286 100 40 40 ��V
X��� 
287 100 60 60 ��V
X��� 
288 100 350 350 ��V
X��� 
289 100 60 60 ��V
X��� 
290 100 210 210 ��V
X��� 
291 100 10200 10200 ��V
X��� 
292 100 4800 4800 ��V
X��� 
293 100 1240 1240 ��V
X��� 
294 100 350 350 ��V
X��� 
295 100 350 350 ��V
X��� 
296 100 1060 1060 ��V
X��� 
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�����B���� A 1 (���) 
 


K����� A �G��� ���=������=����6������ ���=������M����bK����� ����6��� 

297 100 150 150 ��V
X��� 
298 100 170 170 ��V
X��� 
299 100 270 270 ��V
X��� 
300 100 50 50 ��V
X��� 
301 100 100 100 ��V
X��� 
302 100 200 200 ��V
X��� 
303 100 150 150 ��V
X��� 
304 100 110 110 ��V
X��� 
305 100 700 700 ��V
X��� 
306 100 280 280 ��V
X��� 

307 100 220 220 ��V
X��� 
308 100 90 90 ��V
X��� 
309 100 180 180 ��V
X��� 
310 100 160 160 ��V
X��� 
311 100 200 200 ��V
X��� 
312 100 190 190 ��V
X��� 
313 100 600 600 ��V
X��� 
314 100 600 600 ��V
X��� 
315 100 400 400 ��V
X��� 
316 100 600 600 ��V
X��� 
317 100 500 500 ��V
X��� 
318 100 500 500 ��V
X��� 
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